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Hypothesis An object completely immersed in a fluid experiences an upward buoyant force equal
to the weight of fluid displaced by the object. (Archimedes'’ Principle)

Experiment-A - A weightina cup

1 Experience the buoyant force Pt

Measurement of the buoyant force i S ar;m HEAEWEIEnLon 3
; x= 3Q cm
A weight in a plastic cup on water § ) vV
®| EEEET
‘3‘%& Volume
i 52-38
Calculation of 4 W + 38
5.6 39 d Y 8
=35 328 30 .48 ® e
g.b
V = % x (Upper Area + Lower Area) x x
Calculation of ¥ N
(V: The volume of water that the gL (5. 36T+ EAROER | y="56cm
abject displaces) V- S k _m 3
Y 156““3 % =[).000056
V= 4.bRLTx3.8 = (ecmd?
f= Pwater V g

Buoyant force -_):= !000 nglm*' 0.000096015 < q% mls? f=0, G5 N

) K

W = mg
3 Gravity on the weight (and the cup) w=02% g@_05+9_05;}\g’}): 0.%a N w = OE_}';L\“

Discussion

ln this expeviment we used the wup nd the welght to wmake it float on
WOTRY o observe the weight's bwoyoncy, . Though colanations we saw o
the ouoyancy 1& (avgex thail ting (}m\“’“&- This vesull makes sense becguse
the aup was %kommg, not Campletely inside the warev.
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Experiment-B - Weight

w1 Measurement
w1l = 0.%F N
Measurement
y w2= 0} N
(Zero adjustment of a
spring scale)
Buoyant force
f=wi-wz=0}N
0.3=m=«.8
2 Calculation Mass of the weight {m) m= 0.0 kg
W=mg
0-3= {000V q.8
0.3 3
Volume of the weight (V) Vo= 4.8 x (000 m
$: P Vg V= 0.0000%)m?. 2| om?
P= -
Density of the weight (o ) P 5 0.0} k.g
0.0000 31 m>
P . 2300kgIm}
Discussion

I 4his experimenit  We tested forces W A cond 1HONS 5 out fn the Qiv
and. making 4 £loat n the water. We sow the bwoyoncy tvougin the diferend
between the 7 forces. We earmed. Wow 0 colouhdie otiner things ke Mass .
Volume ona density fiwroug h £0VCeS andl 10u0 Y aNCH -
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Experiment-C - Cartesian Diver

Fb = (Vg + Va) pwg Measurement
Va
Volume of Air
; & bwl The volume of air inside
the test tube (Va) when it
¥ is in the intermediate
— Volume of Glass | POsition of the bottle.
1 Set up and measurement I
W=mg |
33 ;
5\[ 1 i #
e |
A
ante )
O‘Q Tr [\)
I8
Mass of the test tube (m)} = I . }?'g'
2 Data Density of glass { o glass) = 2500 kg/m3
Volume of the test tube(Vg)= 0.0000059 >
Buoyant Force
3 Calculation Fb=(Vg+Va) p.g 0 14 N
(000000 40.o000 590 (000~ 9. 8 '
OQ 8-!30633 =0.WN
Gravity = mg ) C’! EN
=0.0437kg Q€ = 0. 1447 O'HILN
= 014
Discussion and opinions
IS exporivent we tvied 1o balance the buoyanoy and gravity PU-
mw“‘lﬁ float tn -the middie . We did succeed pecause we calculated
test
e were oalmest equad . wWe (eavinad

the qvowuurﬂ buogancy andk the answers
that buoyancy = aravity when Somg thing
| thoughtt that these % Bxperfiments were {nteresting to <ee the velation-

ts Hoating LY watex.

clip betweed buvyancy and grawity. T loved doiug tis lob because
Wos vevy fun . 7

v



